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@ A box contains 10 mobile phones, Thieves  jydoes
out of which 4 are defective. Two | 41 d)
mobile phones are chosen at
random from this box. The -
probability that at least one of (2}
these is defective is :
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40. Tfthe height of a pole is ,/3 méters ) a
and the length of its shadow is 1
meter. Find the angle of elevation pui Uf_the sbove Hgures Deds
of the sun. . depicts the relationship among
hod y ﬁ"_ 78 criminals, thieves and judges ?
(A)  30° VLR %’@
AR PErY W ‘q.{_ (A) (i)
(B) 45° A
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(D) None of the above
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TS : 14/(P)11—B 20 RS
{?J % . ¢ Lo %’}- A3,
@ p U s L A
I L t ;-”'1' M’
r_‘_b i



b

Y

If R is the son of Q, Q and Y are

sisters, Z is the mother of Y, P is
the son of Z, then which of the

following statements is correct ?

‘1F e

Ll;\ﬁ" c{" {g.,\/ P is the maternal uncle of
% gﬁ% | R
© &\ “,:: " (B) P andY are sisters
: (C) R and P are cousins
(D) None of the above

@&ctiuns (Q. Nos. 43 to 45) :

Abhay Sharma checked the blood
pressure levels of the patients at
Shimla Hospital, Shimla. He
tabulated the data according to the
number of female and male
patients showing high, low and
normal blood pressure levels.
However, the sheet in which the
data was entered got damaged and
only the following values could be

read :
Blood Pressure Levels | Total
Low | High |Normal
Male |47, | u
Female| Z#hJ4 Goy| 920 | 10
Total 80 y 'Eﬁ.
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However, Abhay recalls the

following information :

(2} 40% of the patients surveyed
showed either low or high

blood pressure.

45% of the total number of

patients

(if)
surveyed are

females.

(iii)  Two-third of the female
patients had normal level of
blood pressure.

()  20% of the female patients
surveyed showed low blood

pressure levels.

What percentage of patients
having low blood pressure are
females ?
(A) 50
(B) 40
60
(D)  None of the above
What percentage of the males had
normal blood pressure ?
(A}  56.56
(B) 55.55
O
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495.

The number of male patients
having low blood pressure is what
percentage of the total number of
(female and male) patients having
normal blood pressure ?

(AY" 10

(B) 15
(C) 20
(D) 25

Directions (Q. Nos. 46 to 50) :

« 0
%)

Study the conditions given
the
questions according to these

below and answer
conditions :

The following are the conditions,
laid down for a group of six friends,
to choose a pienic spot. If they
cannot go to Manali or Shimla or
Chandigarh, then they stay at
home.
(1) The average age of the
group should be more than
21 years to go to Manali.
(2)  If there are exactly 3 boys
and 3 girls within the group,
then they must go to
Manali.

If the total cash with the
group is less than Rs. 5,000,
they stay at home and do

>
not go anywhere.
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(4) They go to Shimla only if
there are exactly 2 boys and
4 girls in the group.
(6)  Each of them should have
«’E}ﬂ inished his/her final exams
before going to picnic.
In case :
P :  Condition (3) is violated, but
;ne of them has a car or
they can get free hotel
accommodation, then
Rs. 1,000 out of the total
expenses can be saved in
each of the two cases. °
Condition (5) alone is
violated, but-none of them
have final exams in the next
two months, they go to
Chandigarh, which is closer.
On the basis of the above for each
question that follow, mark your
answer as :
(A) If the friends can go to
Shimla
(B) If the friends can go to
Manali
(C)
Chandigarh
If the decision cannot be
taken on the basis of the

(D)

data available

If the friends can go to’



46—, Two boys and four girls, having an
@ average age of less than 21 vyears,

D decide to go out and they have
Rs. 4,500 with them. They have a

car as well as free hotel
accommodation. Three of them

have not finished all their exams.

f 4'?@ Six friends decide to go on a picnic
and their average age is 20. They
% have a car and cash amounting to
" Rs. 4,200. All of them have
finished their exams. There are 2

boys and 4 girls in the group.

48. 7 Two boys and four girls, having an

e~ " average age of 19 years and
s./ Rs. 9,800 cash «decide to go, to

@ picnic. c. Four of them have their
exams five months from now and

rest have finished their exams.

49. 3 boys and 3 girls with an average
g@ age of 24 years, have decided to
go to picnic, having finished their
final exams and they have

Rs. 15,000 with them.

50. . Two boys and four girls have only
o Rs. 3,000 between them. The
&5 parent of one of the friends is

providing a car and another parent
18 arranging accommodation for
them. All the friends have finished
their exams and the average age
of the friends is 20 years.
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The value of the fraction ‘\"f* #“x

2 :“}31,

lp—=
3
14 = LR !
1+4 §55—F

s

when written as decimal is : ‘L‘P

(A) 15 B 2.95
©) 25 (D) 2.6

Suppose your height this year is
10% more than last year, and past
year your height was 20% more
than it was the year before. By
what percentage has your height
increased during the last two
years ?

(A) 30 (B) 31

e 32 (D) 15

Multiply the consecutive even
positive integers together until the
product 2.4.6.8......c0..becomes
divisible by 1995. The largest even

‘integer used is :

{A)- between 1 and 21

(B) between 21-and 31

(Cr” between 31 and 41

(D)  bigger than 41

The average of the test scores of
a class of ‘m’ students is 70 and
that of ‘n’ students is 91. When the
score of both the groups are
combined, the average is 80. What

is =d 7
m
-~ 10 13
11 T
10 11
(C) 13 (D) 10
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556. The quadrilateral PQRS is a | 57.
rectangle. M is any peint on its
diagonal SQ. What can one say
sure about areas of two shaded

regions.
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(A) " The area I is larger than

area II

(B) The area I is smaller than
~area 11

fIQ'}f/'qI_‘he area I is equal to area
11

(D)  Insufficient information to

draw any of the above

conclusion
Six hundred and twenty five
students enter a 100 m race. The
track has five lanes. At the end of
each race the winner survives,
while other four are eliminated.

How many races are needed to

determine the champjon ?
(A) 106 ) 156
(C) 136 (D) 150
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In a group of 50 persens who are
either Americans or French and
each one is either a graduate or
post-graduate, 14 are Graduate
Americans, 31 are French and 18
are Post-graduate. How many are
Post-graduate French 7

£A) b (B) 7

(C 9 ()13

A train leaves Delhi at 6.00 am
and reaches Chandigarh at 1.00
Second train
Chandigarh at 8.00 am and
reaches Délhi at 1.00 pm moving
on parallel tracks and with
constant speed, at what time would

pm. leaves

they meat ?
T T 95 BRI T(BITEI55 am
€ 1005 am (D) 10.55 am

At what time between 3 O'clock
and 4 O'clock, will the hands of a
clock be together ?

(A) 151 mins past 3
11
I
(B) 14ﬁ mins past 3
Yoy 16 mins past 3 b
1] mins past ¢ ,,? \
4
(D) IEH mins past 3
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